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+KE1HRH ExE2HRHE T/kE1HRH T/kE2HRH
ERKE e ERKE K = EIKHEHE fERK EIKHEHE fERAK
. |8m 850M 16m 1,700/ 8m 524 16m 1,048
= 9~20 175N — 5504 17~40 175N —1,100MH = 9~30 80N—-116M 17~60 80N-232
= 21~30 185N — 750 41~60 185N-1,500M A 31~50 86N —296M 61~100 86N —592
i 31~50 195N —1,050H 61~100 195N —2,100H 51~ 91N —546 101~ 9IN—1,092
51~ 210N —1,800MH 101~ 210N - 3,600/ TkE1HAA TkE2H R
EIKHEHE fERK EIKBEHE fERA
+XE1HAHRA rixE2H R & 8m 524A 16m 1048A
fERKE Bl fERKE ke . |30 80N —116A ~60 80N-232A
8m 850A 16m 1,700A = |~50 86N —296A ~100 86N —592A
#E |~20 175N —550A ~40 175N —1,100A i 5018 91N —546A 10018 91IN—1,092A
& |~30 185N —750A ~60 185N-1,500A M H ) Tk EEE (ERA+EE5) L. L2RSEERT 2,
A |~50 195N —1,050A ~100 195N —2,100A B1) 100m + 215 =50 80x100 - (232x2) x4 =TAEERR
5078 210N —1,800A 10078 210N —3,600A TkE1HBR TokE2H B A
IttHEH7 ) FKEZEE (EAR-#HFH) L. LERNELERT 5, ES EAKEEHE fEAR EAKEEHE fEAR
1) 100mi + 2% =50 185x100 - (1500x2) x K#&H:= EicERiS #% [10m 684 20m 1,368M
EkE1HAH FokE2H AR A [11~30 80N-116M 21~60 80N —2321
fERKE e fERKE ke 31~50 91N-446M 61~100 91N —-892MH
& 10m 1,200 20m 2,400/ cgzm |51~100 106N—1,196H |101~200 106N —2,392M
- 11~50 210N —900M 21~100 210N —1,800MH (mazm [101~300 126N —3,196FH |201~600 126N —6,392M
M 51~200 225N —-1,650M 101~400 225N —3,300M 301~500 151N —10,696M [601~1,000 151N —21,3921
201~500 235N — 3,650 401~1,000 235N —7,300M 501~ 177N —23,696 (1,001~ 177N —47,3921
501~ 270N—21,150H (1,001~ 270N —42,300M
FkE1HRAH tixE2HAA *HEREEENTLEEA,
= fERAKE e ERKE K *EERA 1 mEfM 5008
N 10m 1,100 20m 2,200MH *AMAAR 1 mEf 350M
11~100 210N —1,000H |21~200 210N —2,000H
& 101~500 225N —2,500H [201~1,000 225N —5,000H
i 501~1,000 240N —10,000M |1,001~2,000 [240N—20,000M
1,001~ 275N —45,0001 {2,001~ 275N —90,000H




